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Termumformungen — Lésung

(\/E—B)(\/x_y+3)—2xy=xy—9—2xy=—xy—9

%(n—\/%)(\/%+n) =§(n—\/%)(n+\/%) =§(n2—3a) =§n2—2a

Ve-2)® _ (sve-2)°
(Sz—ssz) - E5(5\/;)2) =—(5Vc-2)=2-5Vc

16—8k+k* _ (4—k)*> _
4-k 4k

4—k

27-3b _ 3(9-b) _ 3

81-18b%+b>  (9-b)> 9-b

49xt-4y®  (7x%-2y)(7x2+2y) _ (7x%-2y)(7x%*+2y)

— 2 = —7x% —
2y—-7x* 2y—7x% —(7x2-2y) (7x* + 2y) = —7x 2y

y—4a’> _ (fy-2a)(Jy+2a)
Jy—-2a - Jy—2a - \/; t2a

a-2vah+h _ (Va-vVh)? _ B
va—vh  Ja-Vh =Va—vh

7z+56Vz+112 _ 7(z+8Vz+16) _ 7(Vz+4)* .
a+Vz | Atz 4tz 7(Vz +4) = 7Vz +28

5x—10vVxXy+5y _ 5(x—2vxy+y) _ 5(Vx—y)? _ Vx—y
10Vx—10y 10(VX—/¥) 10(vVx—/y) 2

4p*r-9q®r _ r(4p*-9q°) _ (2p?-3q3)(2p*+3q3) _ 2p*+3q3

2p*r?—3q3r2  r?(2p2-3q3) r(2p2-3q3) T
81V2a-9y*V2a _  9y2a(9-y*) _ 9B-¥)(B+y) _ 9(3-Y)
2v2a(4,549y+0,5v%)  v2a(9+18y+y%)  (B+y)2  (3+y
12ax—12vabx+3b°x _ 3x(4a—4Vab+b?) _ (2va—b)? __ (2v/a-b)
24ax?—6x2b*  6x2(4a-b2)  2x(2Va-b)(2Va+b)  2x(2a+b)
9a2V*—0,25y+/x _ Vx(9a?-0,25y) _ (3a-0,5v)(3a+0,5Vy) _
9a2Vx3-3a/x3y+0,25y2Vx3  Vx3(9a2-3ayy+0,25y2) x(3a—0,5y)2
_ (3a+0,5vy)
— x(3a—0,5\y)
4a3z*-8a?z® . 4a*z*(a-2z) _ 2z(Wa—2z)(Va+V2z) _ 2z(Va+V2z)

2a%z-42aza’z+4a%z>  2a’z(a-2Zaz+2z) a—v2z)? T (Wa—V22)



